
Reason for review and the clarification is provided in the table below: 

 

Reason for 
review 

 
The fixed carbon percentage and NCV value have been sourced from SAP database 
of the plant. Further clarification is required on how these values were determined 
and how the DOE has justified that these values have been chosen in a 
conservative manner in accordance with the methodology. 
 

 

Clarification from 
PP 

 
Fixed Carbon: 
Fixed Carbon for a type of coal has been taken from coal test reports. PP has used 
“Weighted average of Fixed Carbon” for all coal types used during this monitoring 
period.  
 
 
NCV: 
Gross Calorific Values are taken from Coal test reports. NCV is calculated from GCV 
according to American Society for Testing and Materials standard ASTM  ‐ D 5865 
(Annex‐2).  As per the standard the NCV is calculated as: 
 
QP (net) = Qvar (gross) – 215.5 j/g x Har …………………(1) 

where 

QP (net) = Net calorific value 
Qvar (gross) = Gross calorific value 
Har   = Total Hydrogen, %, as received basis (where hydrogen  includes hydrogen  in 
the sample moisture) 
 
In  a month  different  kinds  of  coal  are  used,  the  quantity  of  each  type  of  coal 
consumed  is measured and their NCV  is calculated based on the GCV test reports  
using above formula (1). Weighted average NCV of the coal consumed in a month 
are  then  reported  in  the monitoring  period  as  NCV  of  coal  consumed  in  that 
month.  
 
Sample NCV calculation : 
 
Coal type = MV NEW HARMONY 
Coal quantity = 3239 MT 
GCV value (Air Dried Basis) = 6005 kcal/ kg 
GCV value (As Received Basis) = 5515 kcal/ kg or 23088 j/ g 
Total H % (As Received Basis) = 5.14 
 
So, 
NCV (As Received Basis) = 23088 – (215.5 x 5.14) 
= 21980 kJ/ kg or 5250 kcal/ kg  
 
 
These calculated NCV values are then fed into the SAP. 
 



A) NCV for the coal used in a month: 
It is a weighted average of NCV of all types of coal used in the month as described 
above. 
 

B) NCV for the coal used in the monitoring period: 
It is the weighted average of ‘A’ values as described above. 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Annex ‐1 



 



 

 

 

 

 

 



Annex‐2 

 

 



 


